Stoichiometry Problems

1. Na2CO3 + HCl ( NaCl + CO2 + H2O  (unbalanced)
What mass of sodium chloride is produce when 100 ml of 0.32 M hydrochloric acid react?

2. 3Zn + 2MoO3 ( Mo2O3 + 3ZnO

15.5 g of zinc oxide were produced.

a. What mass of zinc was used?

b. What mass of Mo2O3 was produced?

3. 2Fe2O3 + CO ( 2Fe3O4 + CO2
2.5 g Fe3O4 formed.
a. Find the mass of carbon dioxide formed

b. Find the mass of carbon monoxide consumed

4. 6CO2 + 6H2O ( C6H12O6 + 6O2
132 g of sugar were produced.  What mass of carbon dioxide was consumed?

5. Al + HCl ( AlCl3 + H2 (unbalanced)
1.2 g of aluminum were reacted with 120 ml of HCl.

a. Find the mass of hydrogen produced.

b. Find the mass of aluminum chloride produced.

c. Find the concentration of the hydrochloric acid used.

6. Al2(CO3)3 + 3H2SO4 ( Al2(SO4)3 + 3H2O + 3CO2
A student had 14 g of aluminum carbonate and reacted it with sulfuric acid according to the reaction shown above.

a. What mass of aluminum sulfate is expected?

b. If the student produced 14.95 g in lab, what is his percent yield?
